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Question Number : 1 Question Id : 9032018611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Li_l}l(} (sinxlogx) =

Options :

Does not exist

E T +
S SeeEEin SR

18 @@
) o 0
23 u |l
4.% €

Question Number : 2 Question Id : 9032018612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
' 1/
lim (7" +22") /n =

H—*20
Options :

20



[ R
L]

Question Number : 3 Question Id : 9032018613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. . nir
lim S5Up Sin ? =

H—#aC
Options :
1. % 0

#3
2.¢ 2

=3
3.% 2
4.% @

Question Number : 4 Question Id : 9032018614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following series is divergent
Bol (Bewed® A0 (Ve (IR

Options :




n=1 -
2. %
3
o B
- M
n=l =
3. ®
>-
n=1 ”n
4, %

Question Number : 5 Question Id : 9032018615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Consider the following statements
Bol arEsineon BoHHowhan

Let (x,) be any sequence of real numbers
() ©3F0 XS Dogre ©HoEkam

A) x, = x < x| - Ixl

B) x, -0 |x,| =0

Now select the correct option.
DO f)) B0 JohE ok
Options :

Both A and B are false.
A, B e Bod S5y



Both A and B are True.
A, B @ Boid &5

Oul}f A is mle

A SrlEch DOToRG
3. %
Only B is tme
B &ml@ah S0TE0
4.

Question Number : 6 Question Id : 9032018616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Hf{x) = 1t1r: #+ 0and f(x) =1ifx =0, then f is

f(x) :E' x# 0 0w f(x) =1, x =0 oons, f &I

Options :

Continuous everywhere exceptat x = 0

P 0 58 PHom (HETer ol )
1. il b

C’c-ntinucms everywhere
DaTFer %W,J““““‘“

2. ®
f 1s differentiable at x = 0.
x =0 58 f o580d0H50
3, % i

f 1s continuous but not differentiable at x = 0
f ©2PE0 =V x = 05 ©IZVHE D



Question Number : 7 Question Id : 9032018617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fx) =Ix] + |x —1]is
f(x) =|x| +|x— 1| o3&

Options :

C'ontimmus and differentiable everywhere
Paste SR JEvelevsy 0550w

1. %
Neither Continuous nor differentiable at 0 & 1
0,1 58 ©IYHH0 S SO0 eS%eddchsn s
2. % N
Continuous and differentiable at 0 & 1
- 0,1 a:nf:ﬁ @Eh\?&c‘lm:-.. 000 @58adchaw
Continuous but not differentiable at 0 & 1
» 0.1 5‘3&‘3 @thﬁ*w;.. SeR) @a8onchn 5ot
4, «

Question Number : 8 Question Id : 9032018618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
inZ, x=0
fix) = {Sm x> has (@onss°)
1 x=0
Options :



Discontinuity of first kind at x =0
g ) r‘ﬁ S0GE) B8 i ;,;T]\“‘“

Contimutyat x =0
x=10 éﬁg E:&)-f.’g_;,m’;a‘im

Discontinuity of second kind at x =0

X =038 Tosa 8550 EJEQ&&JJ
3 5% o =N

Removable discontinuity at x =0

X =058 dardy DY
4. ¢

Question Number : 9 Question Id : 9032018619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A continuous fl‘lll?tllﬂll fzla,b] >R

f:la,b] = R o3 ©29)% (B0
Options :

is always bounded and attains its bounds

-:::-..-Em] o éﬂgfﬁ“ PAh 8l oY) "*-dwe:o Sbﬁom:}u.
1.4

1s always unbounded
JYIPE TR
= =

Maybe bounded or unbounded

QJUJ(j{“ G '&Tﬁudfi“{"" SN "{“
3. %



1s always bounded but may not attain its bounds
DYHPH BoaFEn 0 o 59 OSSPSR
4. % '

Question Number : 10 Question Id : 9032018620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
' —10 1) . g
Flx) = I.x COos (x % =4 2
0 1 x =10

Options:

Continuous atx =0

x =088 e@ddwan
it oA

1. %
Ditterentiable at x =0
x =038 e95380dchan
2. ® o
Discontinuous at x =10
Xx=0 3 DI e
3. ¢ Sl
Continuous & Ditferentiable at x =0
x =038 @&ﬁ:ﬁa;sﬁw 000 VBN
4. ®

Question Number : 11 Question Id : 9032018621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The function f(x)= N 20 is
e* +1
0 =
.
x| e* —1 |
f{l‘} — . S T d . X#E U @Eﬁ:} La":l_‘-ucﬁj"i -
e’ +1
0 x=0

Options :

Discontinuous at x =10
X =0 38 D
[’ P

1. %
Differentiable at x =0
x=0 3¢ vI50cHE0
2. % =
Continuous but not derivable at x =0
X = 0358 o8 o0 vileddhansed
3. ¢ . b
Neither Continuous nor differentiable at x =0
x =058 odYPE» o 000y eSfodchadn =M
4. % o

Question Number : 12 Question Id : 9032018622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of ‘¢’ of Lagrange’s mean value theorem. when f(x) = 2x% + 3x + 4 in [2.4] is
BroBS g duil hepodod® f(x) = 222 4 3x + 4 &8, [24]6° ‘¢’ G0 Denid

Options:



A= |

1.%
2.
7
3. % 4
4
4.% 3

Question Number : 13 Question Id : 9032018623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is true
Bod Trsres® JHO@IL
Options :
Every convergent sequence is bounded

(08 I8 vd|Bnan H0nGan ©iyol
et
1.¢

Every bounded sequence 1s convergent

e

358 Do eEan ool
et

A sequence having unique limit point is convergent
B8 D0E Dothy ay) edEhan edd0iol.



Every bounded sequence with a unique limit point 1s divergent
IS5 D0 Hothy) o) 38 H00F ensdeniin eDnitHokb.
]

Question Number : 14 Question Id : 9032018624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Every continuous function s uniformly continuous if it is defined on
G2 Ardotads, (8 oW Dddhsn 568 vddHR) (Hahdbsn vyl
- oJ [ =8 L On
Options:

R

1. %

(a,b)

('mr 0}

4 [a, b]

Question Number : 15 Question Id : 9032018625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



0, when x is rational
Let f(x) be defined by f(x) =
1, when x is irrational

Then f: f(x)dx =

0, x ©58BHIW

flx) e :
1, x S83c0aw

™ A8 Hosnlds, f; fx)dx =

Options :

Does not exist
Sramean o
N

Question Number : 16 Question Id : 9032018626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

lim s {sm— + sm— + o+ 5111—] =

n—x T
Options:

1.% 0



w
¥
B |

»
S
M |

Question Number : 17 Question Id : 9032018627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Let P=i0L152 349 4} be a partition of [0.4]. Then ||P]| =
={0,1,1.5,2,3.4,4} @30 [0, 4] D dg=sd wons, ||P|| =
Options :
0.5
1. %
) v L4
0.4
3. %
4 % 06

Question Number : 18 Question Id : 9032018628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



x, when x is rational

: : over [a, b]. Then
—x, when x is not rational

Hf(x)= {
¢« ¥  oSddohin )

[a,b] B f(x)= {_‘ ; : ©ond

X, X po883chan st

Options :

f 1s integrable
f &30 Jarsendan

1. %
|£] is not integrable
|f] ©36 d5eE0550 S
2.
f 1s integrable but | f | is not integrable
f [drBessmn 00cw |f| Ssrdedan =
3. %
f 1s not integrable but |f] 1s integrable.
f [&SrBedsm st 5P |f] dSrEodan edol
4.

Question Number : 19 Question Id : 9032018629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Statements is false?
& (Bol @@;@@6 D0 Sy
Options :

If f is integral function on [a, b]. then f2is an integral function on [a, b]

[a,b] 2 f dsrsed Hachhn ead, f2irr diried Hachin ehdot.
1. %



If f, g are integral functions on [a, b]. then f g 1s an integral function on [a, b]
[a,b] 2 f, g e J&rsed Padire vowd, fgirm Sirdod (Haahin oot

If | f|is integral function in [a, b]. then f 1s integral function on [a. b]
[a,b] D |f] $&r8ed Hahdhan eowd, f ddrsed Paohin o5&l

\;’/j

If f, g are integral functions on [a.b]. then max (f, g) 1s integral function on [a. b]
[a, b] ?.g f.g o JSrEes (HRohdn e, (f,9)o HOE EHhohin re
4 % REPSOIEN OO0

Question Number : 20 Question Id : 9032018630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Let P; be a partition of [a, b] and P, 1s a refinement of Py. If £ 1s a bounded function on [a, b].
then
Py &30 [a,b] Go%) Dgfesd 50000 Py ©RG Py G w&*f‘ésa s, fodd [a,b] B

-

H08 (Hahabsn ey tfo

o&

Options :

L(Py, f) = L(P,f)

1.4

L(Py, f) = L(Pa,f)
2. %

U(Py, f) = U(Py, f)



Question Number : 21 Question Id : 9032018631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The order of the differential equation whose solution is v = Ae3* + Be™*, where AB are
constants is

A B 28 e, v = Ae® + Be™ S5 o o80s S5 $05rm.
y ;

Options :

Question Number : 22 Question Id : 9032018632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The general solution of xdy — vdx = (x? + y?)dx is
xdy — ydx = (x? + y*)dx ToE) FERE RS

Options :

tan” 1 (}—) =x+c
1.4 x

tan (::_) =x+c



tan 1(y) = f— + ¢

tan 1(x) = i;+ c

Question Number : 23 Question Id : 9032018633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g0~ s e 249y 2 -
The Integrating factor of (1 + x }E + 2xy —4x° = 01s
d ! - >, - -
(1+ .1’2}i+ 2xy — 4x? = 0 GwE) J5eSeD Heesam
Options :

log(1 +x%)

]

1+x

1+ x2

2x
14x2

Question Number : 24 Question Id : 9032018634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The equation (x? + y? + 2x)dx + 2ydy = 0 is
(x? + y% 4+ 2x)dx + 2ydy = 0 & $05Sm5

Options :
Homogenous
SISV 2o vy

1. %

Non-Homogenous
Nad PrSChaw D

2.9

Linear

5 Pressn
3_ W

Exact

DN
4.% ¥

Question Number : 25 Question Id : 9032018635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

; dy .y :
The general solution of d—} ¥ = p2ig
X X

':hr? 1 = "
e Too) TS P

dx x :

Options:
xy+logx =¢

xy —logx =c¢

i+1{:rg:'f — 1

Xy



i—lﬂg:{ i

Question Number : 26 Question Id : 9032018636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The general solution of (x? + y?)dx — 2xydy = 0 is
(x? + y*)dx — 2xydy = 0 G¥E) PGPS FES

Options :

x2 + }-'2 = CX

1. %

- x? —y* =ex
3 % x> +y?=cy
4, % x? —y?=cy

Question Number : 27 Question Id : 9032018637 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

3

: dy
The general solution of sec? y d} + 2xtany = x
= X K

dy - et
sec? }’i—k 2xtany = x3 D) vl ittt APy

Options :



-
tany = ce® —I-E(Xz 1)

1. %
ol o ¥
tany = ce ™ +>(x2 +1)
2. % .
- il Eo .
tany =ce ™ + E[.r —1)
3. ¢
x2 L o3 q°
tany = ce* + E[.t - 1)
4. %

Question Number : 28 Question Id : 9032018638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

: dx dy dz .
The general solution of 5 e T

ZoX z
dx dy dz

Jr
= = 5 = 5= GI0E) el P

Z—-}:I - 221_- o }r

Options :

rEoy® =y, }-'3—2'3 =5
1.4

12},2 = Ly _}-'323 = {5
2. %



Question Number : 29 Question Id : 9032018639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

: _ dy .
The general solution of x*p? 4 xyp — 6v% = 0 where p = e

dx
dy - = -
= é Lona _,{.EPE + xyp — {)}?2 =0 O?;J:é:_ RS RGN
Options:

(y—ex®) (vx* —c)=0
1. %

(yx —c) (yx2 —¢c) =0

2_ w

(yx2—¢c) (yx> —ex) =0
3. =

(v =) (ey+xH) =0
4, %

Question Number : 30 Question Id : 9032018640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Orthogonal Trajectory of the curve xv = k? is
xy = k? oD SE50 s oon JoTEHEm0

Options :

e 22 .2



2.

x% — xy = ¢?
3. %

Xt g Xy = c?
4, %

Question Number : 31 Question Id : 9032018641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(3a®x? + by cos x)dx + (2sinx — 4ay®)dy = 0 is exact for
(3a’x? + by cosx)dx + (2sinx — 4ay*)dy =0 u‘ﬁamﬂgm S0 208

fl

Options :

=g el
1. =

R
2. %

@ =3 D=4
3. %

i = ==
4,

Question Number : 32 Question Id : 9032018642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



General Solution of p2 — 7p + 12 = 0 where p = ? is

X

p=2F ecB p?—7p+12 = 0 OE) Feeoe PG

Options :
. (v+4x —c)(y+3x—c)=0
1.
v—4x —c)(v—3x—c)=0
B ) )
+t4x—c)y—3x—c)=0

(v—4x—c)(y4+3x—¢c)=0

Question Number : 33 Question Id : 9032018643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The particular integral of (D3 —2D2 + D)y = e ™ is
(D3 —2D% + D)y = e™* Gw¥) (HTE J5rsed

Options :
1. *
1
L
2. %
1 —X
—g
4



—g

Question Number : 34 Question Id : 9032018644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The particular integral of (D? — 4D + 1)y = e?* sin x is

D% — 4D 4+ 1)y = e sinx G5 (P8 S5rse
” [ -

Options :

£ |

Iezx sin x
1. )

1 :

— Eezx sin x
2.9

T )

2€ 2X ginx
3_ w

1 e b
— = ORI
4

Question Number : 35 Question Id : 9032018645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The complete solution of (D + 1)3y = x%?e ¥ is

(D + 1)y = x?e™ GwE) &Y FEI



Options :

5

(C1L+ Cox + C3x?) ™™ + e
1. %
5
(C; £ GEECK) e +z—ﬂe_x
2. %
5
(Ci £ Gx L Cx2)e™ ¢ z—ﬂe_x
3.¢
5
(Cy + Cox + C3x%) e* -E—%E"'
4. %

Question Number : 36 Question Id : 9032018646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The slope at any point of a curve is 2x + 3y. If the curve passes through the origin. then equation

of a curve is
2.8 S50 P 00 othsy S8 er 2v +3y. dre Dothyh we TT) i AwE)

H 0088050
Options :
2 e, BN 2
= = _— =
y > 3+3
1. %
2 2x &
SO TS |- T P
S 3 9
2. v



Question Number : 37 Question Id : 9032018647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

; d’y dy :
The general solution of x? d_:; — e + 2y =01s
X X )

2 d%y dy o Nl By
4 Pre et .K'E—F 2y =10 @JJ:::TN PO PN
Options :

v = x(C; cos(logx) + C; sin(log x))
1. ¢

v = x(C; cos(log x) — C; sin(log x))

2_ e

y = _1’{:{:‘1 {‘DS(_‘{:} — Cz Sill(.\"):}
3_ e

V= ].:'{Cl {:‘DS(E"I:) + CE Sill(ﬁ'xj:}
4. E

Question Number : 38 Question Id : 9032018648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The complementary function of (1 + x)? £1 + (1+ X)% + y = 2sinflog(1 + x)] is

dx?
(14 1':)2%+ (14 .x’)% +y = 2sinflog(1 + x)] @) FrES FHababai
Options :

Cycos(l+ x) 4+ Cysin(1 + x)
1. %

Cy coslog(1 + x) + C; sinlog(1 + x)

2. ¢

Cy cos e 4 ¢, sine @)
3. %

Cy coslog(x) — C; sinlog(x)
4.%

Question Number : 39 Question Id : 9032018649 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The partial differential equation obtained by eliminating the constants i, k from
(x-h?+(-kP+22=c’is
(x=h)*+ (y—k) 4 2% = c* &0b hk & Fehodm AT 8 @5ed Sosdmn
Options :
2 2 s
| % p+q +1=c

272 I WL,
- z4p” g +1)=¢

s % 2@+ =¢?



p? +q® +1=2z>c?

Question Number : 40 Question Id : 9032018650 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The solutionof (v+z)p+(x+2z)g=x+yis
(y+2)p+(x+2)qg=x+y Q8 FEI

Options :

- @ [(}1- + v+ z)(x — 1}’::.}2] —0

¢ [(}1‘ + v+ 2)(x —y)? xﬂ] =0

, % "x+z
SR O, - i { (I
. d|lr+y+Dx -2 =0

Question Number : 41 Question Id : 9032018651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

E 3 3 du du du
Wu=1og.lx" +9 +z —3xyz) then —4+—F— =
h{?{_ : 2 ] 3x+ﬂ}’+ﬁ'z
[ 3 3 o —_ du du du
= l{:-gg[.‘f + v+ g :;1"1':__] OO0, = —I_a_v e

Options :



xt+ytz

Xtyt=z

Question Number : 42 Question Id : 9032018652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

COS X i
i Eial = and tanhv = 5% then
sinh y cosh v
COS X sin x .
tan 1= - 50000 tanhv = WONS
sinh ¥ cosh y
Options :
du é’rv 1— __dv
dx a}' dy dx
1. %
du  dv fill(l dv
ox EJ} g gy o dx
2. %
du du du dv
— = —c—gnd—= ——
dx dy 3}  ax



Question Number : 43 Question Id : 9032018653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. ay
Ife* + e¥ = 2xy, then é =

" 3 - dy
e* +e¥ =2xy oons i =

Options :

2y—e*

1 % 2x—e?¥

e¥+2y
2x—e¥

et —2y
2x+e¥

Question Number : 44 Question Id : 9032018654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If f(x,y,2) = 3x°yz + 5xy%z + 422, then r—f—I- v ﬂ—|— f

R - . ¥ e ol O B
f(x,v,z) =3x°yz + 5xy°z + 4z° oows Xy B}'+Zaz =
Options :

1. % 0
f(x,y,2)
2. ¢
2f(x,y,2)

, Yy 2)

Question Number : 45 Question Id : 9032018655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The envelope of the family x cos + y sina - a . where a is the parameter is
. » T, O . T i v -
a’ PoRR8 EONIHD XS +Y sing = g i DEwono Ro) wIBBE

Options :



Question Number : 46 Question Id : 9032018656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

- . . . X /
The envelope of the family of straight lines = + 2 = 1, where the parameters a and b are connected
a ]

by the relation ab = ¢?, ¢ being a constant, is
a

1 06 b Soedes 0% Sonotsn ab = (c &30 e oy dtjorr i% =1
B H5E0pY Henono (%) 03683

Options :
g
1 % 2xy = ¢
 3xy = c?
. H ’
4xy = c?
3. \‘f/ o
PORSRL.
4% XY=¢

Question Number : 47 Question Id : 9032018657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The evolute of the pﬁlabola v? = 4ax is
v? = 4ax o HoeKochin Do) Soliasn

Options:



27ay? = 4(x + 2a)?

1. %
2 Al 32
5 % 27ay” = 4(x — 2a)
27ay? = 4(x — 2a)3
3. %

27ay? = 4(x + 2a)3
.

Question Number : 48 Question Id : 9032018658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

3 3
. - a o .
The maximum value of u = xy + = mik 5

3 3
a a .
u=xy+t o + }— [E.'J«:lg; ﬁ@% ALV

Options:

4a?



Question Number : 49 Question Id : 9032018659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The minimum value of u = x3 + v® — 3axy (a > 0) occurs when

-

u=x"+y> —3axy (a > 0) @) 508 Devd NPeH HHYSET wHod
Q

Options :

X=ay =—u
1. %

X=y=a
2. ;

X=—aV=a
3. % '

X =V = —J
4, % ‘

Question Number : 50 Question Id : 9032018660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The radius of curvature at the point (x, v) on the curve xy = a? is

xy =a® & SR (x,y) Doy $¢ HFee aedsm
= gl T

Options :

a2y’

4a?

(2+y?)fs
8 al



2y
(x2+y2)"/3

2a?
3. %
3
(3" 477 /2
2a’
4.

Question Number : 51 Question Id : 9032018661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

w—Lf \ . : .
If u = (x2 4+ y2 4+ z2) /2 then. u is a homogenous function of degree

—1 - » - . .
u= (2 +y?+22) 2 wond, S5grdadh BFovEn u @E) HrES

Options :
-1
1.4
1
2. %
.
2
3. %
2
4. %

Question Number : 52 Question Id : 9032018662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The locus of center of curvature 1s
SH(Eese So@an @ng) Dot

Options :
Evolute
So(eam

1.4
Envelope

< % o2

> % ©OBE
Cardioid
a’%iﬁcﬁmﬂaﬁw

3. %

Projectile

4. ®

Question Number : 53 Question Id : 9032018663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The radius of curvature at any point of the cycloid x = q(t + sint ),y = a(l—cost)is

Options :

t
4 cos -
2



t
43 cos? =

£
4a cos —
2

Question Number : 54 Question Id : 9032018664 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The coordinates of center of curvature are given by
JAEee SoEsn TwE) AdrHseen

Options :
= n(l+y1)? - 1+y12
.x'zx—‘“{ ¥1) J=y— y1
¥y2 y2
il n(l+y)?  _ 1+y12
_r:x_E_}L{}}lJJJ,:j,_!_ J}L
r_‘._: rz
2. %
" yi{l+y1)®  _ 1+y;?
X =K Y=Y
3 ¢ ¥z ¥z
il n(14y1)?  — 1+y?
.1’21’-!-“{ ¥i. Y=y — ¥1
¥z ¥2



Question Number : 55 Question Id : 9032018665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

a_m

If z 1s a homogenous function of x, y of degree 5. then x —+ 211’ + v =

frl
’72_
dyl

z @30 1,y o8 §rSsn b rrifo SR8 (HHahin, v

ﬁxﬁ}

Options :

bz

Question Number : 56 Question Id : 9032018666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

62

X u
If u=x2tan12 — y2tan1—gthen:—— =
X }:r ﬁ'.ﬁ.ﬂj’
x d%u
u=x2tan1Y _ yZtan™1= , ©o0s =
X 4 dxdy
Options :
x2_y2
12+y2

1. %



xz+},2

e
2. %
3.“0
4% U

Question Number : 57 Question Id

: 9032018667 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The percentage error in calculatng the area of a rectangle when an error of 2 percent is made in

measuring its sides

8RR Q%) ghepey TOTLEPE 2% Flidn wold) LEISYR Frudn Fodd
- W = e

&

Famdsn
Options :

1%

Question Number : 58 Question Id

: 9032018668 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

HH =f(y—2Z.z2=x,x—y), then
H=f(y—zz—xx—7y), ©cns

Options :
gH @8H dH
. —_— B = 0
dz +-5r +_ﬁy
1. %
8H a8H 8H -
dz dx dy o
2. ¥
6H 8H A8H
3 % gz dx gy
H &8H @H
dz dy dx
4. %

Question Number : 59 Question Id : 9032018669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1y(?-y?)

It f(xy) = [ waF
0 (xy)=(0,0)

respectively 1s

x,y) (0,0 - -
(%3 % (0 '}. then the values of f;, (0,0) & £, (0,0) are

o (%) #(0,0)
=ty
0 (xy)=(00

fly)=

wy ()
} OB HI £, (0,0) & £, (0,0) Devien

Options:



1.9

-1. 1
2. %

.3
3. %

-1. -1
4, #

Question Number : 60 Question Id : 9032018670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The radius of curvature at the origin for
3222y +3xy? — 4y +5x% —6xy + Ty2 — 8y =01is

x? — 2x%y + 3xy? —4y° 4 5xF — 6xy + 7y* — 8y = 0 % Sz TR

- 0]

Options :

4
TR

W | LA

LA



Question Number : 61 Question Id : 9032018671 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Suppose P(S)1s the set of all subsets of a non-empty set S. Then (P(S),4) 15 a group where
AAB = (A—B)U(B—A)forany 4,B € P(S). The mverse of A € P(S) 1s

.5 &Fa "ejb {608 § @ng) ke Hinowdn P(S). (& A, BEP(S)E
AMB=(A-B)U(B-4) @@;mé;; (P(S),4) &8 Sordesn ©ond, A € P(S)

Options:
1. % ¥
2. ® ¢
A
3. ¢
S—A
4, %

Question Number : 62 Question Id : 9032018672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
LetG = (R, +)and G= (C,. .)be two groups and ¢: G — G defined by
¢(x) =cosx +isinx then the kernel of ¢ is

G = (R,+) 50w G=(C,. .) e BothH JSwrdranen SO
¢

$:6 -G, ¢p(x) =cosx+isinx, r® Al IEO A

Options :



{0}

{2m}

. {nm/n € z}

{2nm/n € z}
4. &

Question Number : 63 Question Id : 9032018673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The order of the smallest non-abelian group of odd order 1s
T SBr& 500, DAZHoho e Sdrsro @) B 8818
L

Options :

15

Question Number : 64 Question Id : 9032018674 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The number of generators of an infinite cyclic group G 1s
o0& JEch Jdrdran ¢ TnE) wkE Srose Jog)
Options :

0

-3

Question Number : 65 Question Id : 9032018675 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The set E of all even integers 1s a subgroup of the group Z of integers under addition. then the
mntersection of the cosets E + 2and E 4 4 1s
Soseisn fap &Y Soppy S0 Z &, %0 &3 Sowe 48 E adddrio

el

o

oo, E+ 2500 E+ 40 3555

Options :



Question Number : 66 Question Id : 9032018676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
If G is a cyclic group of order 36 then the number of subgroups of order 6 is
36 éfﬁﬁej fo SEob Saarsro G 8 6 38158 o addkirdte Jogy
Options :

1.9 :

Question Number : 67 Question Id : 9032018677 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In the symmetric group S; the number of elements x such that x> = e is

%‘;&a SSorseam S35 & X =e OXALED X BT DFOSFe S0y

Options:

-



2. #®
3¢ 2
4% O

Question Number : 68 Question Id : 9032018678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If a and b are any two elements in an abelian group G such that 0(a) = 7,0(b) = 8 then
0(ab) =

HDah Jhrdesin G 6 o $H0a b e Toth drozer edybey 0(a)=7,0(b) =8
eond 0(ab) =

Options :

Question Number : 69 Question Id : 9032018679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The number of group homomorphous from (Z, +) onto (Z, +) are

(Z,+) 508 (Z,+) % w0l Jkrdte Jo(iil Jhdrdde Sowy;

Options :

1.331

Question Number : 70 Question Id : 9032018680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If G is an abelian group then O(I n(G]) =
(Where In(G) is the group of inner automorphims of G)
G 2.8 DS JSresn wowd 0(Mn(6)) =

(=258 In(G) o0 G ToZ) @odd Hepdrdde JErR) i)

[=-9

9

Options:

1
1.

I



Question Number : 71 Question Id : 9032018681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The number of zero divisors in the ring (Z i Fas Ao ) is

SochaD  (Zs. + 3. X 39) 80 &y grasre Sogy

Options :

0

Question Number : 72 Question Id : 9032018682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of units in the ring — 18
< 2 B :—_\.

Z
< 45 =

SOHoF™D chrdd Sreseen Sogy

Options :

8

1. %



Question Number : 73 Question Id : 9032018683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a cyclic group
£ |Bo8 TE SIS0 Dirran A0

Options :

A (5

1. %

0,

A 3

R

Question Number : 74 Question Id : 9032018684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The characteristic of the ring of Gaussian integers is
[— - - 5
Meedho Froposte HodhEn Too8) ePEIES

Options :

0
1.4

L]

Question Number : 75 Question Id : 9032018685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The number of maximal ideals of a field
Slo=08 e ﬁﬂa‘a o oy

Options :

1
1.4

I3



Question Number : 76 Question Id : 9032018686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s correct

L AT

& (Bol TEE” Voo (DRT55m

Options :

Every field 1s an integral domain
=TT, i v = At
8 ZEaw o8 Frpod (HRdaw

1.9
Every integral domain 1s a field
. (8 Jropof (DHIw o8 G@am

Every ring has a multiplicative identity
B8 Sechin o8 (Dl S8)dnd 59 sotnol

Every ring has at most two units
38 Jochod® ot wod) crléy o)

Question Number : 77 Question Id : 9032018687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Let R be a commutative ring with unity. then M 1s maximal ideal of R if and only if 18

R 2.8 &) Sird DADdh Hodho wondipd, M o8 HOS ol el edds
o R

Soes Ddbanein = 2.8

ek

Options :

1. %



Ring
Secho

Integral domain
‘@nq;oé (PTE50

2. %

Field

b
3.¢

Division ring but not field

Dl Sechaw vhydol =R ZlEaw o
4. %

Question Number : 78 Question Id : 9032018688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

z ; 5
33—1:1-'3 1s a field. then the value of ¢ € Z3 15
{x°+cx=+1)

B % S85n 00w ¢ € Z; wond ¢ =
(x3+ex2+1) T = : 3
Options :
0
1.
2. % L
2



r_J,_,

Question Number : 79 Question Id : 9032018689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The number of idempotent elements in the ring (Zyg, +1g, X19) 15
(Z10, +10, X10) ©F J00hod” eBH0E resee Joay

Options :

L]

Question Number : 80 Question Id : 9032018690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If f is a one-one homomorphism of a ring R into aring R', then the kernel of f =
Hodhsin R Hob Sodhin R’ 3 o8 T SDErdE wand faws) ©osdn(EE)
Options :

¢

1. #



{0}

{1}

Question Number : 81 Question Id : 9032018691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If R 1s a field of real numbers and W = {(x,v,z)/x, v, z are urational numbers . then
R o306 &R Sogro g @0am W ={(x,y,2)/x,y,z 0 S8R Sogren), ©oNa

Options :

W 1s a subspace of V3(R)

W 38 V3(R) % adwocdoeto
1. ®

W 1s not a subspace of V3(R)
W o3& V3(R) 5 adecdoedsn oW
2.

W 1s linearly dependent
W eS8 e TR0
3, #

W contains zero vector.
W &30 &Py 908 8D aowwol
4, %



Question Number : 82 Question Id : 9032018692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct
& (808 TAS® DO JOGHSD
Options :

The intersection of any two subsets of I is a subspace of vector space V
DozrodTeEan V 8 Toth adddnde DoPm o vodteEan wiydhol

The empty set is a subspace of every vector space
ey D0é (B8 JLTodTreds od wodtrdiin ©éod

The union of two subspaces of a vector space V 1s a subspace of V
ROTodoeEin @nE) Bold & wodtrsre é&oﬁﬁsﬁn o5 ad vodoettin wdol

Intersection of two subspaces of a vector space 1s again a subspace of vector space V
dOTodoeEdn V Q) Boh ad vodtree DPRED o8 6 vodTrdan ool

Question Number : 83 Question Id : 9032018693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following transformations T: R — R? is linear
& 1800 OGS T:R? — R? o0 30585en d5Hrdan ool

Options :

T(x,y)=(x+1y)



T(x,y) = (0, sinx )

T(x,v) =(x+y,x—v)
3.9

Tloy)y=ALlxl.»)
4, %

Question Number : 84 Question Id : 9032018694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

IfT:R% - R3 is a linear transformation such that T(1,1) = (1,0,2) and T(2,3) = (1,~1,4), then

1,0,2) $00a T(2,3) = (1,-1,4) edybiy T:R* - R® eib Q§es

Options :

(5,—3,16)
1.9

(=5, 3,16)

4. %

Question Number : 85 Question Id : 9032018695 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Let V be the vector space of all solutions of the differential equation y” — 3y’ + 2y = 0, then the
basis of V 1s

< " ! s : ; ; s
Veddy -3y +2y=0ed os80s $ostnin @) ke d0modcEn

©oNE V Gn¥) egesin
Options :

{exlezx}
1.+

{E:‘_x,. sz}

{E—x’e—ZI}

5%, %)

Question Number : 86 Question Id : 9032018696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Let T:R® = R? be a linear transformation defined by T(x,y,z) = (x —y,2y + z), then the basis
of N(T) 1s
T:R* - R? &R0 M5m8 $0585 T(x,y,2) = (x -y, 2y + 2) P A& HoSndigs N(T)

(%) eeedin
Options :

(-1, 1, -3}



. 1.

2. ¥
{1,-1, 3
{(L—1,—3)
4. ®

Question Number : 87 Question Id : 9032018697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tet Vand W be vector spaces and L(U, W) be the vector space of all linear maps from V to W. Let
dimV =2 and dimW = 11. then dim L (V. W) =
V 00ckn W e» d0mosStedne, LU, W) oak J85rE H0503&ne Sheosoda.

dimV =2, dimW =11 eas dim L(V,W) =

Options :

13

Question Number : 88 Question Id : 9032018698 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sets is a basis of the vector space R3(R)
% (Bol T8 R3(R) J0zodordinDd D d0& uprdsn ool

Options :

B; ={(1,0,1),(1,1,0),(0,1,1),(1,1,1)}

BE e {(1!31 _2:}1 {3141 —5}, (2,1, _3)}

By={1;—=1L2); (2,1,—2);[=2,2;—4))

By =401,3,—2),(21;—3), (3,131}

Question Number : 89 Question Id : 9032018699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Rank of the linear transformation T: R (R) = R*(R) derived by

Tnyz)=(x+ytzytzxtzx-y+z)is
T:RR) = RR). T(oy,2) = (r+y42,7 + 2,0+ 2,0-y +2) ™ 0 fodng Mr8 S0 Q) 58

Options:



-3

L]

Question Number : 90 Question Id : 9032018700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following matrix is not diagonalizable
<2 B00 Sm&s 5@'5 :\»{égé a8 Sa2
= I:H’:I olJ If.'!-.a& wSgS £20 SR .

Options:
i+ & 3
0 4 5
g U b
1. %
1 2 3
[0 1 2]
0 0 4
2. ¥
[1 2
2 i
3. %
T 2 3
[U 3 4]
0 0 5
4. ®

Question Number : 91 Question Id : 9032018701 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If A is a square matrix of order 3 whose one of the eigen value is 3 and its trace and determinant

are respectively 12 and 60. Then sum of the square of eigen values of A 15 equal to
H0Sreosn 3, &8 epfnd Dend 3 e SR SRBE A, SERm e (ER) D0

g&
oo
e
f_;'ﬂ‘
il
n

12 500 60 eond R deo Soro iy Jos?
Options :

75
1. %

Question Number : 92 Question Id : 9032018702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let T:R? = R? be the linear transformation defined by T(x,y) = (x + 2y, 2x — 3y). Then the
matrix of T with respect to the basis B = {(1,0),(0,1)} 1s
T:R* - R* & QSge8 S05655 T(x,) = (x + 29, 2x — 3y) e DED0DIp

B ={(1,0),(01)} ecesin i T Ghos) i@

Options :

5l



2. %

=
3. %

2 ]
4. ®

Question Number : 93 Question Id : 9032018703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If A is any orthogonal matrix and P = [{1} 2] and B = APAT . then ATB# A is

A oo 982 vonsmEs, P = [é 2] 50005 B = APAT, eond ATB224 -
Options :
[202 202]
1. %
[ 1l
2. %
5
3. %
i



Question Number : 94 Question Id : 9032018704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If x = (3,4),y = (1,2) are two vectors in the vector space R? with standard inner product. If z is
a vector such that (x,z) = 32.{(y,z) = 14. then z =
Fards @oéé;gsmés R? &% S0modtegang® x = (3,4),y = (1,2) Do $0de. z &

=]

3038 (v,z) =32.(y,2) = 14 edydtfore ol z =
Options :

(2.3)

1. %

(3.4

Question Number : 95 Question Id : 9032018705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In R3(R) withe; = (0,1,0).e; = (1,0,1). e3 = (0,1, 1) as a basis. the element (2,3,4) =
e; =(0,1,0).e; = (1,0,1). e3 = (0,1,1) wppdod R3(R)6° somessm (2,3,4) =
Options :

e + 2e; + 3e;

1. %



Jes + 2e; + e

e+ 2eq + 2e5
3. ¢

2e; +3e; 1+ 4eg

Question Number : 96 Question Id : 9032018706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a vector space of complex numbers C over the real number field R.
RS Doy FEaw R o, a’}oép; Sogren C Gns) IO oS8T

Options :

{i} 1s a basis
{i} &8 eprdan

{1,—1}1s a basis

.1} 2.8 epdsw
2. %

{i, —i}1s a basis

{i, —i} o.8 sprdam
3. %

{1,i} 1s a basis
{1,i} a8 eoprdan



Question Number : 97 Question Id : 9032018707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
It W is a subspace of R given by W ={(a,b,c,d)/a = c,b = 2d} . then the dimension of W 1s
W={(abcd)a=cbh=2d), R g adeosoo eond W @) $05Pm0

Options :

1

1. %

]

Question Number : 98 Question Id : 9032018708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If 8={(i,0,1),(1,~2,0)} is in the inner product space C(C) with standard inner product, then an
element of S~ is
Pards @oééﬁ@gméa C(C) 0% B0t vy eodtng® S={(i,0,1),(1,-2,0)} o

576 o8 et
Options:

(2, 1, —2i)
1.¢



(21,2

2. %

(=21 21)
3. %

(2, —1,2i)
4. %

Question Number : 99 Question Id : 9032018709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

G —2 2
Eigen values of the matrix A = [—2 3 —1] are
2 —1 3

6 —2 2
¥ [—2 3 —1‘ @ &S nToaé:_ erEeE Denden
2 —1 3

Options :

16, 18. 20

1. %

'
-2

'
[ g
o0

2.0

I

'
-3
s



Question Number : 100 Question Id : 9032018710 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A square matrix A of order 3 has eigen values 0.-1.1. Then A% is
A o3 S88E SPBS anY) $odrndn 3 Hos eEBS dedes 01,1 rr aodl A% =

Options :



